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Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
5,974 x 1000 = 9,298 x 1000 =
3,318 x 10 = 8,087 x 10 =
10, 027 x 1000 = 5,545 x 100 =
1,482 x 1000 = 7,284 x 100 =
4,533 x 100 = 3,279 x 10 =
5,064 x 100 = 1,926 x 1000 =
5,942 x 1000 = 6,332 x 10 =
9,846 x 10 = 10, 85 x 100 =
9,236 x 1000 = 3,402 x 10 =
3,426 x 10 = 3,443 x 100 =
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Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
5,974 x 1000 = 5974 9,298 x 1000 = 9298
3,318 x 10 =33.18 8,087 x 10 = 80.87
10, 027 x 1000 = 10027 5,545 x 100 = 554.5
1,482 x 1000 = 1482 7,284 x 100 = 728.4
4,533 x 100 =453.3 3,279 x 10 =32.79
5,064 x 100 = 506.4 1,926 x 1000 = 1926
5,942 x 1000 = 5942 6,332 x 10 = 63.32
9,846 x 10 =98.46 10, 85 x 100 = 1085
9,236 x 1000 = 9236 3,402 x 10 = 34.02
3,426 x 10 = 34.26 3,443 x 100 = 344.3
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